LRUAAHR AUAILRAL AR ( LRALAIRIAL )

fa: Wi ezuuu
(-9) - (-10) = (=5)+(-=6) =
4* — (=5) = 10° — (-8) =
oD _4 = (-3)2 42 =
90 —10 = 1Y+ (-2) =
10° -8 = (=5 —1=
6D +7= 307 — () =
(-8)" +(-10)= (3 -1=
62— = o
6P —7= 5D 4 (=5) =
oD —1= (—10)? = (-3) =

www.snowmath.com



LRUALLAADILRAL AR ( LRUUAINIAY )

fia:

(-9) - (~10) = 1

4 —(=5) =21

9D 4= (-2) = (-3)

. 809
I —10= (4 )—(9

10> —8=92
43

60D 7= 2
/ 6

71
6

(=8)" +(=10) = (-9)

- 71 35
679 ~2=(-32) = (-13p)

6( 2)_7 (_

_ 8
IV —1=()

)= (63)

%

(=) +(=6) = (1)

0> — (—-8) = 108

19 1
— (_2)+2:_:2_
(—3) 5 =%

1+ (2= (D)

6 1
)V -1=(3)=13)

37

3 (4= =4

1

9
4 1

(3T =1=(3)=(13)

D _go oy 2 5]

80— 4= (-7 = (33)

_ 24 4

STV +(=5) = —35)=(43)

301 1
1 -2) _ — S S
(-10) (53) = 100 3100

www.snowmath.com

UNA: ATULUY:



